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A=k

Table stk i it thficiE » excel W -

{*(E?
AP (bR AR L RSt &
it B Z{Lit{l | EEm=E Beta 41’ t WEE o VIF
(W) 379 053 69.857 .000
Z5+ 8 (USE) T26 053 .699 13.602 .000 1.000 1.000
2 (58 37149 050 73.686 .000
= Z5+ 8 (USE) 439 079 422 5.587 .000 415 2410
Z5r#(EMO) 375 079 361 4.780 .000 415 2410
3 [§-1 7] 3.811 061 62.804 .000
Z5r#(USE) .078 405 5423 .000 412 2428
Z5ri(EMO) .078 346 4631 .000 412 2424
USEXEMO 046 -130 -2.635 009 945 1.058
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Variable names:

Name of independent variable: USE
MName of moderator: EMO
Unstandardised Regression Coefficients:
Independent variable: 0.421
Moderator: 0.359
Interaction -0.12
Intercept / Constant: 3811
Means | SDs of variables:
Mean of independent variable: 0
SD of independent variable: 1
Mean of moderator 0
SD of moderator: 1
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